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Analysis Skills

Read the following passage and answer the questions :

Duration wanted to know exactly what tells as insect eating plant like the common
sundew to close its leaves when a fly settles on it. So he was going through the possible
causes methodically one by one. Noise was not a likely cause ; but it might just have
worked and Darwin is not the man to rule out anything. He had tried sand and water
and bits of hard-boiled eggs, and now he was trying Frank’s bassoon. Darwin never did
get to the bottom of what makes the sundew close.

(1) What did Darwin want to know?

(1) Who were at war with Napoleon?

(111) Who 1s the writer of the above passage?
(iv) What are people afraid of?

(v)  Who have caused the miracles?
Read the passage and answer by choosing the right answer :

The old man lifted his head slowly. When he saw the silver he would not put out his
hand. He said, “Sir, I did not beg of you. Sir we have good land and we have never been
starving like this before, having such good land. But this year the river rose and men
starve even on good land at such times. Sir, we have no seed left even. We have eaten
our seed. I told them, we cannot eat the seed, but they were young and hungry and they
at it.

(1) The old man lifted his head slowly as
(1) he was having a pain in his head
(2) was frightened
(3) could not decide what to do

(4) none of these
(1) He would not put out his hand because
(1) he did not ask for the silver
(2) he wanted seed
(3) he was a man of self respect
(4) he wanted only food

(i111) They had never starved earlier as
(1) they were very rich
(2) they had good food



2. (a)

(b)

(©)

(d)

(e)

(3) they had never had such floods
(4) they always had good seed

(iv) Their seed was exhausted because of
(1) floods
(2) migration
(3) extreme poverty

(4) consumption

(v) The statement, we have no seed left, even reveals
(1) a sense of deep disgust
(2) a sense of auger
(3) afeeling of utter helplessness

(4) a state of divine bliss

Correct the following sentences :

(1)  One of my books are missing.

(i1) Neither Shakespeare nor Milton belong to Greece.
(1i1) Most of the students has voted for Manu.

(iv) Each of the books written by him are very interesting.
(v)  No one have contributed to the flood - relief fund.

Rewrite as directed :

(1) Close the door. (Change the voice)

(1) He has written. (Add a question tag)

(111) Madras is one of the most populous cities in India. (Change to comparative)
(iv) The teacher said, “complete your work students”. Change to Indirect.

(v)  Being tired, he fell asleep. (Change to compound)

Change into direct speech :
(1) He told me that I alone, could save her.

(1) He said the seen rises in the East.

Fill in the blanks with correct verb forms in the bracket :

(i) I————to Delhirecently. (go)

(i1)) I————— the rent last week. (pay)

(111) John ————— to church every Sunday. (go)

(iv) He will buy the dress that ——————— the cheapest. (be)
(v) They —————— (live) here for ten years.

Fill in the blanks with suitable words given at the bottom :
i) I——you.
(1) Who opened the ——?
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(h)

(i11) He has married her for
(iv) Centuries ago Romeo ————— in love, with Juliet.
(v) Try to save a part of your
(1) fell (2) believe (3) salary (4) door (5) wealth
Rewrite the jumbled sentences into coherent passage :
(1) This contains the electronic components called microchips.
(1) Many components have now computerised their accounting files.
(i111) The part of the computer that processes the data is called CPU.
(iv) Computers can do the work more quickly and accurately than people.
(v) The work that a computer does is called data processing.

Write three exchanges between a teacher and student who wants an extension of time
to submit the assignment.

Write a paragraph using the hints :

Pollution — air pollution — sound pollution — water pollution etc. Health destroyed — life
span is cut ———— steps to curb pollution — government — people’s co-operation.

Write in about 100 words on the following
(1) Uses of Technology

(1) Importance of English

(111) Cell phones
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(Descriptive Skills)

. Write an essay

(a) How did the lovers come together ultimately?
(b) Write a note on Dasa, the servant.

(¢) Narrate the Mystery of the Cufflinks.

. Write short notes

(a) How does the poet compare the express to a queen?

(b) How is Milton’s faith in God reaffirmed?

(¢)  Give the central idea of “Laugh and Be Merry’.

(d) How does the poet describe modern culture through a piano?

(e) Describe Gieve Patel’s description of killing a tree.

. Write an essay

(a) Bring out the truth in Tolstoy’s story.
(b) Narrate the story of the Refugees.
(c) Bring out the irony in “The Open Window”.

(a) Explain the following
(1) I have learnt from experience that I am not wise enough to advise others.
(11) The moment you see it again, send for me.

(i111) That 1s why I have attacked the magic before the fear : because the marvel lies
below the fear.

(b) Explain the follwong
(1) How small a part of time they share.
That are so wondrous sweet and fair !
(1) She has a world of ready wealth,

Our minds and hearts to bless —
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TINAS TSI AU |
Describe the rule of Dasaratha.

fagter sfamfeart afveaaemnty foea

Explain the features of a scholar told by Vidura.
T TE Sfedt i forgare auiEa|

What did the maid of Parvati say to the bachelor?
TSI N, Jvad |

Describe six season’s according to the lesson.
TSTaTEehd Tgstiaehia forread |

How did Rajavahana help to the brahmin?
Harssiter A9 TR fored |

Narrate the story named Jarssiiad]

Answer the following with reference to context.

e SIrEaTd|

(a)
(b)
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(d)
(e)
®
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(h)
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5. Translate ipto English or Telugu.
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(b)

(¢
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1. (a)

(b)

(¢
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First Year

SANSKRIT PAPER — I (NR)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Write the forms in the other numbers of given persons :

TAgHNY argEanr forad |

i) (i) U=
(1) ¥Tq (iv) AHIIG
(v) HdH (vi) Ya™
Decline as per the case ending.
qafgafey segEaTor forea|

(i) < (i) fo
(i) T2 (iv) Y
(v) R (vi) e,

(vii) TR :(viii) YA
Combine Sandhi’s.
e |

() fog + = (i) @& + BN
(iii) @@ + Vg (iv) B + 3

(v) g+ T (vi) T:+ oA
(vil) o + 34 : (viii) fagm + ferafa
Dissolve

fomrgamerR foraal

()  TEFwl (i) wmEg:

(iii) freTOm (v) o™

(v) Frysm (vi) FEhad

(vii) geSeaTy: (viii) &
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2. Tt ure =1 gy fomiwarett afgq fafaw)
(a) arfafer
(b) Hfa I Hia)

3. Toreht Ut =1 wriw fomiwarett afegq ferfau)
(a) w1 : QT WA G
(b) “Hictha” U138 ¥ Y 1 Tew fireran 7

4. foreh gt w1 g faivarst afgq fafa)
(a) T&RRI
(b) BT BT FAT



(DHIN1(NR))
ASSIGNMENT-2

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, MAY/JUNE-2025
First Year
HINDI PAPER — I (NR)
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. (a) &= srees it ARl & foTu gamTe™ % AW W) u fafau)
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B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Micro Economics.

‘&mg& 625?‘;@92633.

Demand function.

&5570& DoES.

Marginal utility.
G0 |DABITE.

Law of supply.
REDT° DD,

External economics.

?J"Xf"é 639525526‘8.

Pricing determination.

8 dY 0.

Cost theory.
DS VT oBBW.
®

WTO.

(200 relesg D0R.
@

ASSIGNMENT-1

First Year
BUSINESS ECONOMICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the meaning and significance of pricing.

B8 BwE); esgm D0Bas @véxméééo DHBOWISD.

(DBCO11)



ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
First Year
BUSINESS ECONOMICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

What are the factors influencing elasticity of demand?

G508 B, RO FILBIY (DgHB0 BB ST 0.

Explain the marginal productivity theory of distribution.

D0EB B, &r0B GEINEES VrLoEERY DHBOVIBY.

Explain the theory of international trade.
OB TAA Tredasg VTX0T°R) DHBOWINW.
2 ®
What is utility theory of demand?
&HT08 Bg), 050B9E BEToBBND 9HBOVODH.

State the cost output relation in the short run.
PRSI HIO-&EHY VowoTRY 2E7YR0B0.
Describe brake even analysis with its limitation and uses.

[BE 5630 320 TR DBRBOW, EIBITTOE VI HBod.

Explain in detail about market structure and pricing.
éJ"BbGS X)cw&s'aéoo DBA3N EY K080 HTON DHBoRDIDD.

Explain the definition and phases of business cycle.
g8 PES DTEHR) HBASN ESHODO DHBOWBW.

Explain the concept and measurement of national income.

A0 eT°0500 B, FPHN HIBOKN DEVHOIO HHBoVOHW.
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ASSIGNMENT-1

B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

First Year
FINANCIAL ACCOUNTING -1
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Types of Accounts.

PPTOD F3Pe.

Need for Bank Reconciliation statement.
25080 VOO IHIIZOS ::)eéé eSDBES.
Discounting of Bill.

ey G060 DODEO.

Manufacturing Account.

ééf%)eg eTe.

Various types of errors.

DI I5re BApen (&ren).

Consignment and sale.

ESPOD0eS DB edyEo.

Fixed instalment system.

NE TPONTO DS D.
[} ()

Joint Bank Account.

am&& 25080 grTPeD.

Define Accounting, what are its advantages and disadvantages.

©57),0630R DEV0D, ©3°),0830R e Sapodo D980V,

(DBCO12)
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ASSIGNMENT-2

(DBCO12)

B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

First Year

FINANCIAL ACCOUNTING -1

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Journalize the transactions in the books of Ramana:

2020 April

1
2
3
5
10
12
15
18
21

27

808 H5HI*To0 00 EDoe YYSOS® Ve e T aod.

Started Business with cash

Purchased goods for cash

Sold goods for cash

Sold goods on cash on Murali

Cash deposited into Bank

Purchased goods from Madhu on credit
Goods sold to Nagarjuna

Paid rent

Paid salaries by cheque

Rs.
1,00,000
22,000
18,000
12,000
15,000
25,000
20,000
6,000

5,600

Withdrawn cash from bank for personal use 2,000

2020 QDS

1

10

12

15

18

TS @E0ErRE BOYS DK
NSO EHoR"EY

DG NP DBL

RMVCEAR M {ASEVRAGSESECRMISLO
gOLS” G BN DA
DO BO0& BN §°) VB
FTEIRE eag)o&:é R

0 390

8°.

1,00,000
22,000
18,000
12,000
15,000
25,000
20,000

6,000



21 Rzro D0 DL, TK0° 5,500

27 25050 %009 AroErdd S dKe> 2000

X has drawn a 3 months bill on Y for Rs. 5,000 duly accepted by Y. X has
discounted the bill at 10% per annum. On due data Y proposed to renew the bill at
5% interest for a period of another three months and X has agreed for its on due
date the new bill is honoured show journal entries in the books of X and Y.

X 85°. 5,000 ©5 Y & 3 Joen DD [Erafore Y ©oREB0DT . X &D 2g08) DY
PR Vol 10% SDH G065 BHTYG. (D) 8ard Deydy $dEE0E Y
(D@80 $08° 3 J0oH Woi 5% HGE° BDendo ErOT @oREBodT . X XKD
8% 576 Doy 88 o858, 988 YISTOS” der D0 a0,

Prepare trial balance from the following balances.

Rs. Rs.

Purchases 64,000 Commission paid 1,300
Discount allowed 5,200 Debtors 13,000
Wages 26,000 Rent and Rates 2,000
Sales 1,20,000 Creditors 8,000
Salaries 8,000 Cash at bank 10,900
Travelling expenses 2,000 Patents 4,800
Carriage 1,100 Sundry expense 220
Repairs 7,800 Vehicles 2,000
Insurance 600 Loan on Mortgage 12,200
Opening stock 23,000 Machinery 6,600
Capital 42,620 General expenses 4,200
Cash in hand 100

1Bo&S BHED VOO 006 OEETNI HAIEIDI0E.

8oe. Eoe.
SO A 64,000 3900 KBRS 1,300
BN Gar),0e5 5,200 gnep (000 13,000
Do 26,000 @ $8050 Bex 2,000
edyse 1,20,000 435 eamesers 8,000
Deren 8,000 W50ES” DRSO 10,900
(DoSes B0 2,000 HBoex 4,800

fornatarsd 1,100 DD ngSerD 220



4.

Eoe.

Bo5DRBIE 7,800
B 600
D508 DS 23,000
00 42,620

B3OS 5K 100

8.
FURSENAION 2,000
Bdar @Y 12,200
a300 (@ 6,600

arlefor) gpdoa@o 4,200

Prepare three column cash book from the following transactions.

2020 April

1

o I W N

10

15
18
22
25
30

Cash in hand

Balance at bank

Goods purchase from Ravikanth

Sales

Purchases

Cash deposited in Bank

Cheque issued to Ravikanth for full settlement

Cash sales

Cash withdrawn from bank

Paid salaries through cheque

Amount withdrawn from bank for use in office

Cash withdrawn for personal use

Rent paid

1808 DHT°® B00G HITE HEIVO HHEY DeF HASTEOBA0OE.
2020

S 1

10

DS K
er?soéoeS”a SRS

5520 D20 DBIE §%HoR en

eazsoésve)o

?éoﬁ‘oi@

W50ES” Greed BN DA
DB DB, 80 §°00 895°0HK &8 DD BLY);

Rs.
32,000
55,000
20,000
12,000

8,000
10,000
19,500
12,000

5,000

4,500

1,600

4,000

2,500

8o°.
32,000

55,000

20,000

12,000

8,000

10,000

19,500



2020

8o,
12 5K DRSO 12,000
15 om0 9008 S DK 5,000
18 38 oogoe 29023 Soren 4,500
22 e @naore §% argotH $00d NS v 1,600
25 arg050 %009 P08 SNS B 4,000
30 &g 3909 2,500
5. What is passbook and write the causes for differences between passbook and cash

book balances?

PR YAEHD SIMTIN? TG DYEHW, T YYEI0e WEy Brredd s¥eren
BT AI00G.

6. From the following trial balance as on 31.03.2020.

Mubarak.

Debit balance

Purchases

Returns
Rent
Stock
Debtors

Salaries

Wages

Machinery
Cash

Insurance

Discount

Drawings

Adjustments:
Closing stock — Rs. 40,000
Outstanding rent — Rs. 1,000

(a)
(b)
(c)
(d)
(e)

Rs.
2,50,000
2,000
5,000
30,000
60,000
45,000
21,600
40,000
58,800
5,000
10,000
12,600

5,40,000

Prepaid insurance — Rs. 1,000
Bad debts — Rs. 2,000

Depreciation on machinery 10%.

Credit balance

Sales
Returns
Rent
Creditors
Discount

Capital

Prepare final accounts of

Rs.
3,50,000
9,400
1,000
50,000
2,000
1,27,600

5,40,000



20erdE @R T8 BwE), 1808 e Hod  31.03.2020 & ©0BHG
VOHBHHTH0E DR BE,OR HASTEBAV0E.

G006 Dogen ;. B&S dogen &

?éoﬁsoﬁ%) 2a505000 @éoésbe)o 3,50,000
D 2,000 o950 9,400
2T} 5,000 o3 1,000
«® @

@Go8s 950 30,000 gnregeer 90,000

200300 60,000 &2e) 065 2,000
dzren 45,000 FUOLISTATN L) 1,27,600
FeTeen 21,600
ShoEren 40,000
K50 58,800
Dd 5,000
&am 085 10,000

DPOHIT°EEZEO) 12,600
5,40,000 5,40,000
PSToNTALIAVK
(o) ™
(a) HVR0Y) VB — 8e. 40,000
(b) BQobzse)%zé @g — &o°. 1,000
(c) PHxogor 362 0D PH> — E°. 1,000

(d) o°d eren — 830, 2,000

(e) dSoEre & 10% HEIKGSO.



7. There was an error in the trial balance of Mr. Arora on 315t December, 2014 and
the difference in books was carried to a suspense account. On going through the
books you find that:

(a) Rs. 5,400 received form Mr. Rajiv was posted to the debit of his account.

(b) Rs. 1,000 being purchases returns were posted to the debit of purchases
account.

(¢) Discount of Rs. 2,000 received was posted to the debit of discount account.
(d) Rs. 2,740 paid for repairs to motor car is debited to motor car as 1,740.
(e) Rs. 4,000 paid to R. Sanjai was debited to S. Sanjai’s account.

Give journal entries to rectify the above errors and ascertain the amount
transferred to suspense account, on 315t December, 2014 by showing the
suspense account, assuming that the suspense account is balanced after the
above corrections.

31.12.2014 Mr. 8°0c° @0¥eS® Hpen ). HoBAN @osersS® ety @rHoB)
PPTOE) DI DOVIB 0.

(8) Mr. 0°8 5009 H9OB 8. 5,400 9B TS’ GBS DOEHIE.
(b)  E°R0R%e0 D0 E3°. 1,000 SPH0R 00 PrErEd Geed DASIEIHE.
(©) DD GA™;0e0 8. 2,000 &AR);060 FoTK G5 BAENIB.

(d)  Docerdd 32805 :ﬁoé:ﬁoéfge» 8oe. 2,740 6@20&66, DI 5o rEe 1,740 Geded
DAIEDIDE.

(@) R0z 8. 4,000 30298 S. 90x050E GO DAEI08.

PO 2E°YR) Sredd 9888E 08 wthS Jodess avgod BoBAN WRYS) erEd
BrD%o orgoe 31 @Rowd 2014 d W) T w8 Javadd dwwed)
dTBoBod. PP DER) WITm BogB ISy e wrgBe) DALWGER
Y0V 0G.

8.  Arun of Ahmedabad consigned 100 sewing machines to Sanjay of Srikakulam to be
sold to his risk. The cost of sewing machine was 150 but the invoice price was 200.
Arun paid freight 600 and insurance 200. Sanjay sent a bank draft to Arun for
10,000 as advance payment and sent an account sales showing 80 sewing
machines were sold at 220 each. Expenses incurred by Sanjay were carriage
inward 25, Octroi 75, godown rent 500 and advertisement 300. Sajay is entitled to
a commission of 5% on sales. Show ledger accounts in the books of Arun.



OTIRErESD 9B 100 Kty NIYH LTS D02300E ESPSIv0en
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EH YsS® BIHT PTOD DIVD0G.

X and Y enter into Joint Venture to share profits and losses in the ratio of 2 : 1. X
supplied goods to Y worth Rs. 25,000 and incurred expenses Rs. 2,000. Y
purchased goods worth
Rs. 15,000 and incurred expenses 600. Y sold goods for Rs. 53,000 and unsold
goods worth Rs. 2,000 were taken by Y. Y is entitled to a commission of 5% on

sales. Pass journal entries in the books of X assuming the final balance due is
settled.

X, Y e ééo&é méavdo 28 @ej;@@ge)m 2:1 K)‘;g)egé”a ‘;)oéoéoowm&do. X 8. 25,000
HIOVREVIRSTOSERISIW) Y8 DHod &°. 2,000 PBNO 3@0&)?&&). Y &5°. 15,000 2E0500:50
§oR’e0 DD 8. 600. PENEL DY0ITE. WEKODK Y 8. 53,000 0% ey
@éoés"@ S 5% EDDS e%‘é)ogom&cﬁo. eaéoééo 0 8O0, 2,000 DS Y
BHTE. DHB8 00HROD TR HBY;B0WLTER graod X ‘@‘{gos“e)é“s ey

DEIOB0 [@0%00G.
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ANSWER ALL QUESTIONS

Functions of statistics.

Ksro§%°‘go o?m§b Do,

Importance of Diagrams.

DBV B, [PP°RgD.

Different types of Averages.

DD FESNG D denen.

Relation between M.D; S.D and Q.D.
:ﬁocﬁagéo DIOINN, IEDVOJ0 HDoBos0 ééocgoé§ DINOJ0O 260(}55 WOo00.

Probable Error.

VogTHgT &%0.

Concept of Regression.

(PAKDOD0 BNE); PII.

Types of sets.

DABOOST Sseen.

Distinguish between sub-matrix, minor and co-factors of determinants.

GADI°BE, OB HoBasw ?—@vggﬁ) &ooéb K)cgds“e) mqs; Been.

Distinguish between schedule and Questionnaire.

(97259 DB 1)@355 M5 Mo Brrony @aod.
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Find median, Dy and Pss for the given data.

BROD DAED ET°OBINHE M $0¢5B0, Dy 50850 Pss 020 EH0R"H08.

Class Interval : 20-30 30-40 40-50 50-60 60-70 70-80
(BEKS e0850)

Frequency : 500 750 1750 1250 500 @ 250
(2rdeeago)

Calculate Bowley’s co-efficient of skewness for the following distribution.

BROD deraedd 79 P g Hes0R B)0H0&.

X: Below 10 10-20 20-30 30-40 40-50 Above 50
(BK0%) (®)

f: 5 12 20 16 5 2

Calculate co-efficient of Rank correlation from the following data.

BROD BBoB0 Ho0D §%3 DIP00208 K800 B88),0%06.

X: 48 33 40 9 16 16 65 24 16 57
Y: 13 13 24 6 15 4 20 9 9 19

Compute standard Deviation and co-efficient of variation for the given data.

BROH ST°OBINDE I [PHI°e3E VD0 H0BASW DD Ees Koeagoo B8 0008.

X: 30 40 50 60 70 80 90 100



Given the bivariate data:

X: 2 6 43 2 2 8 4
Y: 72112 3 2 6

PO BHGVED DI D0 80:

(a) Fit the regression line of y on x and predict y if x =20.
Yy R & (DYUD0e VEEEFR) ©50V05PA0H0E BB x =20 oIy
DOVHHD0 OV V0O0E.

(b) Fit the regression line of x on y and predict x if y=5.

X ROy (DO DELEPR) @V0FI0N0E HBAL ¥y =5 @owd «x
VDD WODT° BAV0E.

Given the following sets

BKOD DANVED DB

A =1{9,10,11,12,15,17}; B =1{7,8,9,12} C = {3,4,5,6,7} &0
Prove that

(@ (AuB)uC

b Au(BuUC)

(e (AnB)nC

(d An(BNC) @ d8rv0H0sk.

Divide the number 36 into six parts in A.P. such that the sum of their square is
286.

Doy 36 9 ©OER G 6 grrreun Hg52oNod, 08 Sore Dgo 286 oo B8),0%06.
Solve by Cramer’s rule.

5°508) DE00S° W08 y5BoBod.

x+2y+3z=1; 2x+2y+4z=2; 3x+4y+3z=3.

Define primary data and secondary data. Explain various methods of collecting
primary data.

(BB E FB°0THD DoBASW BB BBLOTHNDY DYFDOYDN. [PHE SB°OBHID
VEBOW DI ‘Jogéwm DHBoW0G.
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Explain different types of computers used by their users.
DIBIHTEI GIBIROB IV 5570 EoJrgead 5o dHBowHod.
What are the components inside the System Unit?

?o‘égSo 0307°0¢5 S50 grmren DD0e3?

What are programming languages? Explain in detail.
Programming languages 920¢3? 9950 95809508,

Explain different types of topologies.

DD Ese0 SDserdoy DHBoWod.

What are important social issues in Information System? Explain each.
RIS 262326‘53)&3‘3 DOPIIO FDI°DE VDIV A ? (DA T DHB0HoE.
What are the different types of input devices?

Input DBEToO BoE); DDE ESH AD0ed?

List and explain the four parts of computer system.

Eorgead VYoo BE); Te/Dd PR BT D DHBoHod.

Describe the purpose of expansion slots in a PC.

PC &° expansion slots éé%"éﬁ)& DHBoVok.

What are the services of Operating system?

Operating system Go¥); DHew A3 ?
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1. Explain about communication devices.

5075088 D88 HB0d 9580H0E.

2. What are the internet services?
80658)¢5 DHeV A2
3. Explain the impact of computers on people.

(Des0R S0P (Dgrard) dHBoWot:.
4.  What are computer waste and mistakes?
§o‘fgy°§e08 265%"@0 0Bt HY)o A3 ?

What is the purpose of /0 Buses?
I/0 239 &Q%50 2D0e3?
5.  How are keyboard are connected to CPU?
86°5 CPU § Jeor §3§ daadod.
6. Name some pointing devices.
8§78 A00e30R HBET L BoHos.
7.  What is the use spreadsheet?
&R use D20e3?
8.  What is email?
email €085 De3?
9.  What is the purpose of Browser?
Browser &G32%); éé%ago Ae3?
10. What is Hard Disk?
3G &), 008 dD0e3?



